January-February 2006
Econometrics of Financial Markets
Home assignment 3
due by the exam (hand in or send via e-mail)
Choose a large open Russian equity fund (REF) existing for at least 3 years. Construct weekly returns from NAV (Net Asset Value) taken from the file EFM05HA3data.xls or downloaded from http://www.investfunds.ru/ or the fund’s website. Use RTS or S&P-RUX as market index and GKO 1-year rate as risk-free rate. The weekly stock prices of Russian companies as well as macro variables can be downloaded from the website of the course (EFM05HA1data.xls) or data providers (e.g., RBC http://export.rbc.ru/exportfree.shtml and FINAM http://www.finam.ru/analysis/export/default.asp).
Do not forget to provide economic interpretation of the results!

1. (40 points) Evaluate the investment style and selection ability of the REF manager on the basis of a one-factor model with the stock market factor:

rt = α + βrM,t + et, 




(1)
where r denotes the asset’s excess return, (i) using unconditional approach over the whole sample period and over subperiods (e.g., of 1 year), (ii) using conditional approach with instruments,
 as in Ferson and Schadt (1996). Discuss the degree of time variation in alpha and beta.
2. (60 points) Evaluate both selection and timing ability of the REF manager using model (1) with beta modeled as (Treynor-Mazuy or Merton-Henriksson) function of the current excess market return, along the same lines (i) to (ii) as before. Discuss how the estimate of alpha is affected by the change in the methodology. Select several dates with extreme market movements and evaluate market timing ability of the fund manager during these dates by comparing the actual REF’s return with the one predicted by the model.
3. (Bonus 20 points) Examine whether adding REF to the portfolio of benchmark assets including (i) several Russian blue chips (or industry indices) and (ii) same assets and bond (e.g., Cbonds) index leads to the shift of the mean-variance frontier. The mean-variance spanning test will be based on the regression of REF’s returns on benchmark returns:

Rt = α + β’Rbenchmark,t + εt.
In case of no spanning, the following conditions must be satisfied: α=0 and β’l=1, where l is the vector of ones (see DeRoon and Nijman (2001) for a survey of mean-variance spanning tests). Plot the mean-variance frontier before and after adding REF and discuss which type of investors could profit the most from investing in the fund.
� The list of possible instruments includes the EMBI spread, ruble-dollar exchange rate, oil price, local and global interest rates, etc.
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